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FAIR The way the question is phrased could have
or

Q'First past the post' lets a candidate win an election with less than
a big effect on the outcome of a referendum.

50% of the vote. Should we use the 'Alternative vote' system instead?
B’A:EDP Look at these four referendum questions.

. : < . At present, the UK uses the 'first past the post' system to elect MPS to the
Which one do you think is the most fair? House of Commons. Should the 'alternative vote' system be used instead?

l QWhat system should we use to elect MPs to the House of Commons? I

Q'éf he UK has used the 'first past the post’ system for over 300 years.
hould we change to the new 'alternative vote' system? |




